

[illegible]

- [illegible]

[illegible]

- [illegible]

ΔΓΓΔΔΔΓΓΔΔ - ΔΔΔ

- $\Delta L = \Delta L_{\text{rel}} + \Delta L_{\text{grav}}$
- ΔL_{rel} - $\Delta L_{\text{rel}} = \frac{v^2}{2c^2} L_0$ (relativistic length contraction)
- ΔL_{grav} - $\Delta L_{\text{grav}} = \frac{gh}{c^2} L_0$ (gravitational length contraction)
- $\Delta L = \Delta L_{\text{rel}} + \Delta L_{\text{grav}}$
- $\Delta L = \frac{v^2}{2c^2} L_0 + \frac{gh}{c^2} L_0$ (total length contraction)
- $\Delta L = \frac{v^2}{2c^2} L_0 + \frac{gh}{c^2} L_0$ (total length contraction)
- $\Delta L = \Delta L_{\text{rel}} + \Delta L_{\text{grav}}$
- $\Delta L = \frac{v^2}{2c^2} L_0 + \frac{gh}{c^2} L_0$ (total length contraction)
- $\Delta L = \frac{v^2}{2c^2} L_0 + \frac{gh}{c^2} L_0$ (total length contraction)

[illegible]

- $\Delta \rho = \rho_{\text{MMER}} - \rho_{\text{MMER}}^{\text{calc}}$
- $\rho_{\text{MMER}} = \rho_{\text{MMER}}^{\text{calc}} + \Delta \rho$ (MMER) $\Delta \rho$ (MMER)
- $\rho_{\text{MMER}} = \rho_{\text{MMER}}^{\text{calc}} + \Delta \rho$ (MMER) $\Delta \rho$ (MMER)

[illegible]

